PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
CUTTING SHEARS Al ASSEMBLY
LICENSE FILE NAME VERSION QUANTITY
E ' CUTTING SHEARS.iam | 10 1

SCALE SHEET DATE
1:5 1/17




PARTS LIST
POS. 'Z?_% QTY PART NAME FILE NAME PARTTYPE| SPECIFICATIONS
Al 1 |CUTTING SHEARS CUTTING SHEARS.iam ASSEMBLY
B 1 |PARTS LIST PARTS LIST ASSEMBLY
1 1 |BODY BODY.iam ASSEMBLY|
1A 1 |uPPER BODY UPPER BODY.ipt PART
12 |A2 1 |LOWER BODY LOWER BODY.ipt PART
13 |A3 1 |SPACING BLOCK SPACING BLOCK.ipt PART
14 |A9 1 |DEPTH sTOP DEPTH STOP.ipt PART
15 A6 1 |SToP SPACER STOP SPACER.ipt PART
16 |A4 2 |MOUNTING ANGLE MOUNTING ANGLE.ipt PART
17 |A10 1 |HARDEND INSERT FOR CROPPING HOLE | HARDEND INSERT FOR CROPPING HOLE.igtPART
2 1 |BLADE BLADE.iam ASSEMBLY
21 |BI 1 |UPPER BLADE UPPER BLADE.ipt PART
22 |B2 1 |LOWER BLADE LOWER BLADE.ipt PART
3 1 [LEVER LEVER.iam ASSEMBLY
31 |c 1 |LEVER PLATE LEVER PLATE.ipt PART
32 |c2 2 | CONNECTING LINK CONNECTING LINK.ipt PART
33 |c3 1 |LEVER LEVER.ipt PART
3.4 2 |ANSIB18.2.4.5M - M20 x 2.5 ANSI B18.2.4.5M - M20 x 2.5.ipt PART
35 7 |ANSIB18.2.4.5M - M10 x 1.5 ANSI B18.2.4.5M - M10 x 1.5 - 16.ipt PART
36 7 |ANSIB18.2.3.2M - M10 x 1,5 ANSI B18.2.3.2M - M10 x 1,5 PART
37 2 | ANSIB18.2.3.6M - M20 x 2,5 x 35 ANSI B18.2.3.6M - M20 x 2,5 x 35.ipt PART
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
CUTTING SHEARS B1 ASSEMBLY STEEL METAL/ HARD STEEL
LICENS FILE NAME VERSION QUANTITY
l PART LIST CUTTING SHEARS.i§m!.0 1
‘ SCALE SHEET DATE
2117 30/9/2020




PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
BODY 1 ASSEMBLY STEEL METAL
LICENS FILE NAME VERSION QUANTITY
‘ SCALE SHEET DATE
1:4 311 28/9/2020




175

R20

0 QWY
300 .
120
”
115
20 R20
I 2
1 L &
Yy + )
) 20 T
n
- A
?
20
10 T
!
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
UPPER BODY 11 PART STEEL METAL
LICENS o) FILE NAME VERSION QUANTITY
| I UPPER BODY.ipt 1.0 1
SCALE SHEET DATE
1/25 LN 24/9/2020




100

207

_ 170
124
80
40
n
n ~
~O
380
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
LOWER BODY 12 PART STEEL METAL
LICENS o) FILE NAME VERSION QUANTITY
| I LOWER BODY.ipt 1.0 1
SCALE SHEET DATE
1/3 5/17 24/9/2020




25

30

80
~=]
=
!
127

PROJECT CREATED BY APPROVED BY

CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL

SPACING BLOCK 13 PART STEEL METAL

LICENS FILE NAME VERSION QUANTITY
I SPACING BLOCK.ipt 1.0 1
‘ SCALE SHEET DATE
1:15 /11 24/9/2020




130

R20
16
4+
R6
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
DEPTH STOP 1.4 PART STEEL METAL
LICENS ® FILE NAME VERSION QUANTITY
‘ —® — | DEPTH STOP.ipt 1.0 1
SCALE SHEET DATE
1:1 N7 24/9/2020




20

40

20

n

c
2 ] +
45 |
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
STOP SPACER 1.5 PART STEEL METAL
LICENS FILE NAME VERSION QUANTITY
) STOP SPACER.ipt 1.0 1
SCALE SHEET DATE
1:1 8/17 24/9/2020




40

380

X

360

20

15

222224
-
SECTION B-B
SCALE1/2
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
MOUNTING ANGLE 1.6 PART STEEL METAL
LICENS FILE NAME VERSION QUANTITY
l MOUNTING ANGLE.ipt 1.0 1
‘ SCALE SHEET DATE
1/2 917 24/9/2020




20

30

SECTION B-B
SCALE1:1

PROJECT CREATED BY APPROVED BY

CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL

HARDEND INSERT FOR CROPPING HOLE 1.7 PART STEEL METAL

LICENS FILE NAME VERSION QUANTITY
| HARDEND INSERT FOR CROPRINGOHOLE.ipt 1
SCALE SHEET DATE
10/17 24/9/2020

1:1




PROJECT CREATED BY APPROVED BY

CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL

BLADE 2 ASSEMBY HARD STEEL

LICENS FILE NAME VERSION QUANTITY
I BLADE.iam 1.0 1
| SCALE SHEET DATE
1/25 1 24/9/2020




12

70

80

280

61.9

210
R20 45
&
12
I
A
R520
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
UPPER BLADE 2.1 PART HARD STEEL
LICENS FILE NAME VERSION QUANTITY
l UPPER BLADE.ipt 1.0 1
SCALE SHEET DATE
1/2 12/17 24/9/2020




250

70

170
80
&
I I 11
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
LOWER BLADE 2.2 PART HARD STEEL
LICENS FILE NAME VERSION QUANTITY
I LOVER BLADE.ipt 1.0 1
SCALE SHEET DATE
1/2 13/17 24/9/2020




PROJECT CREATED BY APPROVED BY

CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL

LEVER 3 ASSEMBLY STEEL METAL

LICENS FILE NAME VERSION QUANTITY
I LEVER.iam 1.0 1
‘ SCALE SHEET DATE
1:4 1417 28/9/2020




67

R20

20

/’

B 210 N
170
12 R18 - 89
18
—t )
|
O
34 N [
- o : —
154 N
\
230
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
LEVER PLATE 31 PART STEEL METAL
LICENS FILE NAME VERSION QUANTITY
I LEVER PLATE.ipt 1.0 1
SCALE SHEET DATE
1/15 15/17 24/9/2020




30

10

105

75

+ +>——
12

PROJECT CREATED BY APPROVED BY

CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL

CONNECTING LINK 3.2 PART STEEL METAL

LICENS FILE NAME VERSION QUANTITY
| CONNECTING LINK.ipt 1.0 1
‘ SCALE SHEET DATE
1:1 16/17 24/9/2020




40

800

109.4

37

R20

PROJECT CREATED BY APPROVED BY

CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL

LEVER 3.3 PART STEEL METAL

LICENS ® FILE NAME VERSION QUANTITY
[ S LEVER.ipt 1.0 1
SCALE SHEET DATE
1/3 1717 24/9/2020




	Página 1
	Página 2
	Página 3
	Página 4
	Página 5
	Página 6
	Página 7
	Página 8
	Página 9
	Página 10
	Página 11
	Página 12
	Página 13
	Página 14
	Página 15
	Página 16
	Página 17

